0£/051 pmdeds
IELAK ) OHLIBWEOD SLeBMdLeWIdRd
JELAA o)

D81+0ND BlahA UBEA HodaBL

BPHOALXASYT BHHBHOILDITOL BWaXD
90-£4-£1€ (Z18) *HOGALRL
Q6T esoUa) :dadiyimodid

5T0Z 9dgBOH BE E14K Wedogudu Ou WWHAYGSALoUOKUBL O

wokn  6I'Z6E H080dMLIDAdON WOLIRA 3 :e13nA wedogudu ou oJoLk
en] 86'SL »080duLBAdON WOLIRA 3 :219hA Wedogudu ou 0JoLK
i B PT'T s Duth 19108 MoHTOLOX AGALEdBUKBL eH exaodunaddo
H ) 173 suHamegadu Towndal]
c H&,,U._...HW..\. f ! T :AdDE0.OY Ou eianded Youda|)
s Halrotta)ins Qw o IWghH AwsHIadd OU MISHHELMRIORd ‘BUBLMIOHOULAL W33G0
X I_\ ¥ ... rer MIE ".«,_\ﬁ i (e1HaHOGE 10) MMIDIHE YOOUUBL LBhA BE Y xxwmbhmmﬁo e :AWaHIadD OU DoHHELMRIOEd ‘MMIdSHE MOBOULIBL O8L39hHUOY
JUIRE,, ren I'H¢h ok -AWaHTSdD OU eLBhIRd toudaL
E i ! B - ] T Zts T 7 S'EEBE | BLOZZLT | £5'9EEIC 00:20 ST TT 6T
- — - — - — IAHHEY BULEHD
- - Sb'18v 95'THLE - 19'%99E 0£'99£9T 21'55208 00:0Z ST’ IT'60 TG G Sl o BTG
—— h'ged| (vesi) D81 O (uen1) oND O (ewlpn | (EwdEA | (bW | (LW (L)ew ()W swads ‘ele)f
Z 7 / /

\\ [4%:74 000 000 £2'2€ 000 61'L6F 00'0 61'L6b 00'0 00°0 OE'L8F 68'Sh vl 76 78'v11Z 95°LHSE 00'vbL 0JOLY|
75'2 = - #0'T = 81'99 - 091 - #0'91 = - /)]st 85’1 00'S 00’z | ¥EEZ | e 9599/ | 9s'c1 72’89 81°28 = 0042 SaHTdD)
6L'T 160 = ST'EL = 9S'ET 5 95'ET e - 4433 8’1 00's 00’z § zeez | 08'Sy (4574 9z'z1 1’69 19'18 = 0072 STIT'EZ
60°E IE'T 5 66'TL 5 £9'81 B £9'8T £ - L14:18 8£'T 00'S 00'L | 2072 | 6% 66'TL 91'L1 6E'89 55°68 7 00'72 STIT'ZE
S1'T €01 - £6'99 - 6L'ST - 6L'ST - E 9'ST Tt 00'S 00’z |ov'ez | seee SE'69 [Ty ¥8'0S 1€°29 - 00'72 STITIZ
ST'0- 620 G 0r'es - Z6'ST - 76's1 - 5 /1St +6'0- 00'S 00’z | 8vyzr | €89 1565 |08’ Fv 44 79'0¢ - 00'%Z ST'TT'0Z
9T 00T ‘ IETL % LE'PT * LE'PT i k: #0'p1 9T 00's 00’2 | 91'9¢ | OE'st 9 IL TEET 01’69 128 - 00'72 ST'TT'6L
8'T Tt 2 £0°TL = 26'ST B ¢6'ST 3 E 95°ST 9Lt 00's 00’z | ££'9Z | 8% S6'0L 98"p1 58'89 14°€8 - 00'v2Z ST'TT'8T
68'7 FI'T = S6'69 > 96°91 = 96°91 = = 07’91 ST 00's 00’z | €19z | LL'ep 69 06'51 75'89 [444] - 00'%Z STITLT
£9'C £0'T & £4'99 5 84'sT - 84'ST = - SY'ST 09'T 00's 00’z | 8THT | LLTH 50'9% 09T 9b'89 90E8 - 00'42 ST'IT9L
SL'T [rads - 59'%9 = SE'6T - SE'6T - E 96'81 75’1 00's o0’ Joo'ez | 11w 1449 91'81 L£'89 £5'98 = 00'vZ STITST
7% 61T = S8°%9 - 89'81 - 89'81 - B ZE'ST 75T 00's 't | st'ze | €Uy 88'%9 £5'L1 07’69 £2'98 = 0072 SUTTHT
65'C 20T = 7259 = TL'91 > (1513 . - Tb'9T 75T 00'S 00’ j o'z | 89'Tw 0£'59 79'sT b5'69 91’58 = 00'¥2 STITET
¥S'C 20'T 7 72’59 - £6'ST g L6'ST - E: 99's1 151 00's 00'¢ jes'zr | e £2'S9 26T 0v'69 [ = 00'¥Z STTIZT
¥5'2 70'T - $5'59 - Z8'sT - z8'st - E 08'S1 £5°T 00's 00’2 JoL'ze | BTy 5’59 SL'pT 8b'69 £2'%8 = 00'%2 STITIL
LT £6°0 - 88'S9 - Ob'p1 * Ob'pT = ) £T%T +5'T 00's 00’ | 08°ZZ | 60V 68°59 EP'ET 2L'69 ST'Es = 00'vZ ST'TI0T
29'7 80'T 2 9€'59 2 $8'9T - #8'9T 3 - 7591 ¥S'T 00's 00'c | 0L'zT | 09T¥ 0€'59 19's1 02’69 1558 3 00'+2 STIT60
't 61'T - 89'59 = ¥S'8T 2 ¥S'8T - - (18T LS'T 00's 00 | ET'EC | 69T¥ 78’59 05'LT +9'69 v1'L8 g 00'vE ST'TT'80
99'7 £0'T - 61'99 = 60'91 - 6¢'91 - - 191 65'T 00's 00'e | ev'Ee | €8'7F 97'99 8'ST 69'69 L1's8 = 00'¥2 STTTL0
(14 #6'0 - 599 - ZE'PT - TE'YT - - £0°bT 85T 00'S 00'c | 2UET | SHEF £5'99 $HET 8669 ZH'E8 5 00'¥2 ST'TT'90
15'2 260 - 2E49 - 0L'v1 - 0L'v1 - - 6£'pT #5'T 00'S 00'¢ | 85'ZZ | 08't¥ 8E'L9 S9ET 7504 LT'98 B 00'vZ STTTS0
+'e 160 - £€°49 - LLET - LLET - 4 ISET 05’1 00'S 1122 | WWsw EE'L9 pL'TL vE0L 20'€8 - 00'%2 STITH0
25'7 10T - 6049 - £E'ST - £€'S1 = - 10°sT 16°T 00'S 12272 | S8'tr 30°49 v2'p1 LE0L S5'b8 * 00'+vZ ST'IT'E0
75’7 86'0 - 10749 . 88'vT - 88'b1 = = 95°pT +S'T 00's 99'7¢ | LE'%F £0°49 84'€T 6104 L6'E8 = 00'vZ SITT'Z0
[<X4 90°T = ST'99 = L£'9T - L€'91 = . £0'91 95°1 00'S 00'ez | e€'er ££'99 [ 2969 66'v8 2 00'vZ SU'LT'T0
89'C [4351 b 6559 = LT . LT = - oT'sT 95'1 00's e | X' 8559 1Z'91 9£'69 £5'58 - 00'vZ SUOT'TE
6+'C 060 5 77’99 = T6'ET . T6'ET . = S9ET 85’7 00's €EET | E6'TF 9Z'99 18°ZT 01’0z 16'¢8 = 00'+Z ST'0T'0E
€57 860 = 7959 = 9Z'st . 9z'st a = 96'pT S8'1 00'S 16T | E'T £5'59 Or'%T 91'69 9z'€8 = 00'vZ STOT'6Z
09'z 201 % 72’99 - £9'51 - £9'5T - - ££'51 65'L 00'S 86'7¢ | ET'ER 11'99 [ 6L°1L 12'98 - 00'%2 ST'0T'87
£5'T Z0°T & 89'59 - £8'ST o £8'ST = = £5'ST SS°T 00's £E'ZZ | 1S'EP #8°59 695T +9'1L ££'98 3 0072 STOT'LT
£5' S6'0 " +0'£9 = faad) 3 L = 2 Elgae 85’1 00°s 95’2z | €M £899 0Z'EL L0'EL £7'98 s 00'+vZ S1T01'92
SL'T 02’1 = 15'99 = 81 g T+'81 = - S0'8T v8’T 00's IT'EZ | bS'ep 59'99 LT 80’69 7£'98 5 00'%Z STOT'ST
Hm . 00T % 2245 5 5641 z #S'LT = = 9Z'L1 't 00's 6587 | 86'8€ £5°45 bE9L 8’89 78'v8 i 00'vZ SIOTPC
“en) e =] =] S ] ST K FISE oW T 1 3 Teng TR | ZRoTA 5 5 ] T T n Seh

‘mgo O 28I UM A0 | ‘Mmoo aid | bl ‘el | umoupn | oaAp A £A ‘Wp ‘B ‘EW wuoLod) zd Td 1P ‘T "L ‘WP ‘W ‘TW OH mL el
a-dlououLaL SISHHEY BIHAUDALHOY (z-gL) D81 13r4 (T-8.1) DMHIULOLO L3hk
33moo CTQZ TI'EZ OU STQZ'QT ' D UOUdSU MISHIShIO UMMATISTSdU ee auHaugad.ou ESTEERTIRER |
0=2819 0="10U"X315) 0="1Ha8D) 0=109 1A0f1 (" 1Ay dd) Isroxoed aisHdosolol
Z650°0 =da2aid =dyoarxed) :aehfuen | ‘(dendd) wieAdien aikdosolol]|
£1'0=2810 ="10U"XaLD ="1H380) 861'0=100 oenfuen ‘wicAdlen 3iaHdosool|
0RY (EXU-7UN 7 W-{BXU-TUa TIW=0) :BWME :W1MdOIUR MISHLBRIRA
:suHaveer-dgoady *dgosduondal =Xews =uw9 :dawoloxoed (GAYLMUTOU dL
yWHavserdgosdy) s'dooaduonday =XBWo =uwg :dawooxoed ()] wdwn-dy
ssuHaUserdgosdy H-UDL 'dgoaducwkda) =Xews =uwH WE4L daworcxoed ((EW)De] 'U-dL
1suHaUseD dgoady H-LDLY :'dooaduckda) =XBWo uwo WEdL daworoxyed {zw)drHiedgo
suHaVERT dgoady H-UDLy :dgoaduowda) =XBeWwo) =uwn WedL :dawotoxoed (Ti) dimoieroy
¥' =Ddd 'BxL off 1aHadagou €144 /edogudy) (EWDXD) WHNDY 165507 5N £-1DIF :SUBLMLOMAISg
PG'SILI-(2)h-165507-£ 149 :xeumed 8. 98uxde "HROLAD ¥ 3198008H :i5dogudu ISHHIUBOHRLIA

T-E MDIDEOXAGD HWHHROLIY
LHONBB L WOTT, OV :BUTIREMHRICNO BEMOIREMNALIOD
291+0ND / 85T eaoke) ‘1dAgdalali-1wHeD 1 ady
T'8£0°50€6 :doaoioly BHOWE CUOMISIH ZIMK :LHIHOGY
13h10



